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Input		   

Process   

Output
MEDC
	Profit
	Growing potatoes
	Low, undulating relief
	Barley
	Electricity

	Growing barley
	Rearing 40 calves
	Fertiliser
	Growing grass
	Hay

	Deep soils
	Cattle
	Barns for storage
	Machines
	Potatoes

	Skilled labour
	8 month growing season
	Rain
	240 hectares of land
	Rearing 40 pigs

	Pigs
	Seeds
	Cattle feed
	Manure
	Milk



LEDC
	No profit
	Eggs
	Oxen
	Chickens
	Rice seeds

	Rice cultivation
	Flat land
	Much labour
	Hand tools
	Rice

	Rearing 20 chickens
	Year round growing season
	Hand tools
	Caring for oxen
	Some wheat

	2 hectares of land
	Plenty of rain
	Rich soils
	Wheat cultivation
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